Bilateral Contracture Footrest




Bilateral Contracture Footrest

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly

1 See Chart #1 Insert Tube 1 1

2 See Chart #2 Outer Tube 1 1

3 1044939-NLA | NLA - Screw, Hex Head (5/16-18 x 1-3/4") 1 2

4 1025195 Locknut (1/4-20) 1 8

5 1093925-NLA | NLA - Bracket, Angle Adjustment, Black 1 2

6 1001762 Screw, Socket Button Head (1/4-20 x 1-3/4") 1 2

7 1093923-NLA | NLA - Support, Contracture, Black 1 2

8 1056328 Plug Button, Black (1") 1 2

9 1060097-NLA | NLA - Screw, Socket Flat Head (1/4-28 x 1-1/2") 1 4

10 1060425-NLA | NLA - Footplate, Adjustable Angle, Small, Black 1 2
(3-1/4" W x 8" L)

10 A 1060426-NLA | NLA - Footplate, Adjustable Angle, Medium, Black 1 2
(4-1/4" W x 8" L)

10 B 1113572 Footplate, Adjustable Angle, Medium, Black (4-1/4" 1 2
W x8"L)

10 A 1060427-NLA | NLA - Footplate, Adjustable Angle, Large, Black 1 2
(5-1/4" W x 8" L)

10 B 1113573 Footplate, Adjustable Angle, Large, Black (5-1/4" W 1 2
x 8"L)

10 AC 1062569-NLA | NLA - Footplate, Adjustable Angle, Extra Large, 1 2
Black (6-1/4" W x 8" L)

10 B 1113574 Footplate, Adjustable Angle, Extra Large, Black 1 2
(6-1/4" W x 8" L)

10 A 1068617-NLA | NLA - Footplate, Adjustable Angle, XX-Large, Black 1 2
(7-1/4" W x 8"L)

10 B 1113575 Footplate, Adjustable Angle, XX- Large, Black 1 2
(7-1/4" W x 8" L)

11 1058517 Clamp, Footplate 1 2

12 1025711-NLA | NLA - Nut, Hex (1/4-20) 1 4

13 1027097 Plug Button, Black (3/4") 1 4

14 1093926-NLA | NLA - Bracket, Footplate Mounting, Black - Right 1 1

14 1093927-NLA | NLA - Bracket, Footplate Mounting, Black - Left 1 1

15 40157X020 Spacer, Coved (1/4 x 1 x 9/16") 1 4

16 1001762 Screw, Socket Button Head (1/4-20 x 1-3/4") 1 4

17 1030949 Screw, Hex Head (1/4-20 x 1-1/2") 1 2

18 See Chart #18 Bilateral Contracture Footrest Kit 1 1

NOTE: A - Used before 9/2/08.
B - Used after 9/1/08.
C - Part #1062569 is No Longer Available. Order part #1113574 as a replacement. The footplate design was revised 9/2/08
vr;i;rtlcrr(])under corners and accessory holes chaged from eigh to four. It is recommended to replace footplate in pairs to
#1 Insert Tube
14" Width

15" Width

16" Width

17" Width

18" Width

1095315-NLA

1095316-NLA

1095317-NLA

1095318-NLA

1095319-NLA

19" Width

20" Width

21" Width

22" Width




Bilateral Contracture Footrest

#1 Insert Tube

14" Width

15" Width

16" Width

17" Width

18" Width

1095320-NLA

1095321-NLA

1095322-NLA

1095323-NLA




Bilateral Contracture Footrest

#2 Outer Tube

14" Width

15" Width

16" Width

17" Width

18" Width

1095330-NLA

1095331-NLA

1095332-NLA

1095333-NLA

1095334-NLA

19" Width

20" Width

21" Width

22" Width

1095335-NLA

1095336-NLA

1095337-NLA

1095338-NLA

#18 Bilateral Contracture Footrest Kit

14" Width

15" Width

16" Width

17" Width

18" Width

1095340-NLA

1095341-NLA

1095342-NLA

1095343-NLA

1095344-NLA

19" Width

20" Width

21" Width

22" Width

1095345-NLA

1095346-NLA

1095347-NLA

1095348-NLA




